M

| =
S
-

5N LNt T

20204 98 J|E

dd S8 iyl 7| "ol 22¢ oSHxt F

o2
Hr
&

2020. 12.

P HEZ2ETZ MY
BEUEFET ZAIHAUY



.
1w g
0 i ﬂua
= S, K
= R0 S
al ) s = s i = @EE._
e X e S i 5 ol ol
= o Sl o il v p M ke
T M & a " w8 D ~ m-
o R N Al B <o - 2 ) o |
m) r.__.aMo n f O] A S . el - N =
o sl ol = nH = & ) r = < U
I = o= - 0l ioJ IH U Ki © &
& of 5 z o <0 = o% o M T M = o =
g T 05 s o © @ < y Ol n R w O ~ S
*Tﬁzm”%w S 7o 0 SR Uy R L
—_x ~ B o o ¢ Nz _ o K0 = 5 K
Mxﬂo_MHEM = & myo____A_= &2 mﬁ ) zoAIoI
<% 2 0 5 2 o 22 0 uE 0 S0
S K ) % Al m_m = I o © ap o = = Jid ::ﬁ___ = = 3l :_E
,L|| L|.._.L|| = L|j.| s
wupoz__g A0 M_:_E___owa__ww D T Rm B8
= i n = 0] [0 Al = J ol e == Ko = &
K o =) - |__.u_ 40 =) {0 K X . A & =
_..._OH_. 30 S Wo m = <! WMM R M_o ) T .- U I ::A_._ 100 o) U KT
= 4D m_“_m Al = .Mo dn EY </ rom — m) = ﬁ_.r_. = — 0D M LH w
mm ) _._._._, N M&l&m H_. nm_x_. <k WWE ) ﬂklﬂu_ al ioJ W Pyl oln __Omm
i U ) = o = = _
Jxl.muﬂm__momqm xa_.E_;._mozo_xr 5 o EME}: ok K mmﬁwzo
< B © ~ ™~ = 0 =] = = 3
M - ¢+ w 4 E@M_&JM_EXT B 2z = ozzo%A%
xo_m%ma%A angnxfhog o e = Jo gp o BT
=_._=I_.___gw.,.nm = -.}HD.SHM o = 5 = 3 Ww
m__“_zm__a%@zmo uxIT.EMM_.o M:___ WNM _AAIREOI_
., m;____g%___umea _ngMmgmﬁm_m L5 o o 39%%:_0
= | 5 i K HMLolr = . of ™ n D =
) ___ol_n___ﬂéw%nm -AEHU&A ol o xmwgﬂmr,g_g%
N EquTEH ﬂ@ﬂgﬂo% ~ © TR 3 W 2
R = nE.X|nﬂ§%= Mﬁ:am;T___mr.w. swmmwmraw
m L T ) gy M 0l & _Em_xgﬂaalw%__% HJ:I_mu__gjrm
O NE _Eo_ioxﬁm_m ===QXTwAﬂmoo_L+3 %EEA W ad Kk 2 5
= O = W W mﬁiggm Mﬁr_g afﬂxre
= O 2 x|:_i___=o__ Jw® M < W o0 =M R
MH w Ol k{0 o 5] il 3 o ] nJ N
< O <+ RM o) MR I S = Al ._._/..__J_ua
] = ! Em_.__mo Kl MH ol H
O KF- &l
o =g I rJ h =
O 2 A A 7
-y Rl m_o
o O i KM
™ . O A
O

227

=

- Az

O 0=
=P,



) F 2 U 8 <«

(Z1& A|E) 2098 7|E9 2%, HF, 1998 CfH] 5L 58 &4

g CfH] HE7|1dH.HH7|s03 7, mSHX Ha

(6.3%)> 7187|5213 (3.6%)>L| S M XH(A8.5%)

=H| 210008 -65008)0 DELHM9E QISH Z7| Azt S2|
| 2o O|fE EAINALD XA Jted EXY

S
- E|ZSH 7t AEQl 2 YO0l ZELH9 FEo| DIESHA HHaMS
=

O (N o ZHIxt) 686,374F = 628,237, 58,137 (8.5%) UL
W=olel A IX|T, HAg0) HE 452 (=010 o
7

(QAZQI HIFZ ZA) 14.1%(97,082F) = 13.6%(85,749F), 0.5%p LA

(klhl:l) I_I-k|0| 7|-A7|. axll_’ I=I|- _%% 01%5'0| E'I E‘
- (BxE) HM 90.2%, o 9.8%
- (=9 HIE) E4(13.7%)> 08 (12.9%)

O (HdE) 20CH O5IE H|Qet 2= HEOA| Za(7oCH 0|4, 60CH, 50CH ZH4 #H)
) 50CH(36.1%)>40CH(22.1%)>60CH(21.1%)>30CH(11.3%)
- (/=2 H|ZE) 30CH(24.2%)>20CH O|SH17.9%)>40CH(14.3%)>50LH(12.4%)

- (2%

O F2 6/l 23E) ZE HI0M Z2 (H|74|4— 35&1% gL 7))
= —
sala‘%ol H|Z) *E—:%(33.9%)>§§%%%(30.1%)>E%O_I$(11 %)> Hﬂ_%(m.Z%)
O (XI19%9) 2E XH0M Z2MT, 5, 5 T2 7)

- (BXE) 47((20.3%)>ME(17.1%) > 5 2H6.2%) > 1 & (5.8%)
- (2=l HIE) ME(27.0%)>2Z27((18.2%)> MZE(16.5%)> 21 & (10.8%)
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<38 2> HE718Y . dE7|sUH 0 SHX EE F0| H|12(19.9~20.9)

1. [ S |
747|408 ZE7I s W Z MR
100 - 6.3 |
3.6 - 5.0
50 -
5.8 5.4
0.0 TR
50 -
100 - 5.0
-15.0 - ZSEPrE, Y HE)
1 SRl
-20.0 |
250 - -15.0
T ) HAT[SQEHE2 HHUFYUR T Vs H &ATI|S BARY, HX|Z7|AZE U ZES AL
=t ETAKE 52 2t 8.
2) LEMAts= 2g4D S22 Q| =2 £=dE = US
3) HdA7|d2 ot Bt AlSe SAMEF 015 2 #HIIE T71E)Y
g - SAH, 822NN

O ‘42 W.el=elE o IHX SL(19.98 CiH| 2098 #H=h

- (MHl) 686,374F = 6282379, 58,137H(8.5%) ZA, L=l ZATJL AKX

283 HF Z2EF2 o500 o

- Q=9 HF ZA) 141% = 13.6%, 0.5%p &4
- (LHI=Ql ZtA) 589,292 = 542,488, 46,804FH ZA, 7.9% LA
(=0l ZkA) 97,082F = 85,749%, 11,333H ZA, 11.7% 42
- (‘99 Hluw) gde| Azt ax|ot A2 ofdo] 2

Q= 2l H|E EM(13.7%)>0’d(12.9%)

- (2%h 617,500(90.0%) = 566,759H(90.2%), 50,741(8.2%) &L, 0.2%p 57t

- (=0l HIF ZA) 143% = 13.7% 0.6%p ZA
(=92 ZhA) 529,162 = 488,948%H, 40,214 LA, 76% A
(=0l ZtA) 88,338F = 77,811H, 10,527& ZA, 11.9% LA

- (04X} 68,874H(10.0%) = 61,478H(9.8%), 7,396H(10.7%) Z4, 0.2%p L2

- (@=Q! HIFE F7H 12.7% = 12.9%, 0.2%p F7t
- (Lf=Ql ZA) 60,130 = 53,540, 6,590 ZA, 11.0% Z
- (2RI ZtA) 8,744H = 7,938 806 A 92% LA

ZHA




<38 3> 428 W.=UE nIHx F

7t

312('19.9 CHH| 209 H3$}

a
- 0.0
58137 -46,804 -11333 -50741 -40,214 -10,527 -7,396 -5,590 -806
-10,000 - -2.0
-20,000 - =40
A 57| Oy =2
e ——F3 =7 oy S e
-40,000 - -8.0
-50,000 F -10.0
-50,000 - -120
-70,000 F -14.0
[ A =21 =2l A L=l 2=l A L=2¢l 2i=0l (%)
Gk L o
Z . mBHASE 224D 502 o £ +HY + S
Az . AEZ22XSAZ DB
<H 1> 48 U =¥ u3Nx ZZ #(19.9 CiH| '20.9 H3h
e 2019.9 2020.9 M =J| OiHl =52
- OIRA(H)|  PAHI(%)  [QURME)|  REHI(%) olglA(Y) | BLE(%)
A 686,374 100.0 100.0| 628,237 100.0 100.0 -58,137 -8.5
&H =0l 589,292 85.9 85.9] 542,488 86.4 86.4 -46,804 -7.9
Q=0 | 97,082  14.1 14.1] 85749 13.6| 13.6] -11,333 -11.7
A 617,500 90.0 100.0| 566,759 90.2 100.0 -50,741 -8.2
=X | W=el 529,162 771 85.7| 488,948 77.8 86.3 -40,214 -7.6
e|=09l 88,338 12.9 14.3 77,811 12.4 13.7 -10,527 -11.9
A 68,874 10.0 100.0 61,478 9.8 100.0 -7,396 -10.7
X | =2l 60,130 8.8 87.3 53,540 8.5 87.1 -6,590 -11.0
e|=09l 8,744 1.3 2.7 7,938 1.3 12.9 -806 -9.2
ZOZHASE 2340 502 o3 x3 +HE + U2
=2 qEZ2Z2XS M= DB



O

HFE W.A=UE mSHxt SZ(19.98 CiH] 2098 =)

(MH) 686374Y = 6282379, 58,137H(B.5%) LA, L=l ZtA7 X0

2423 HIE ZAEL 92010 B

- (Q=Ql HIFE ZA) 141% = 13.6%, 0.5%p &L

- (LH=Ql ZA) 589,292F = 542,488, 46,804 ZA, 7.9% A

- (2I=Q ZtA) 97,082 = 85,749F 11 333% ZA, 11.7% Z4Aa

- (HEE H|) 20cH OfSIE Helet RE o“lE"OIIH Za7och ofat eoch socH Z4 7
A 2 50CH(36.1%)>4000(22.1%)>60CH(21.1%) > 30CH(11.3%)
Q= ¢l H|E 30CH(24.2%)>20CH O|SH(17.9%)>40LH (14.3%)>50CH(12.4%)

(20CH O|3l) 44,400 (6.5%) = 45,267 (7.2%), 867%H(2.0%) Z7}, 0.7%p S7}

. (@=el b
NUELES
(=9 Za

HA) 21.7% = 17.9%, 3.8%p L
) 34,7488 = 37,1748, 2,4268 F7I, 7.0% S|
) 9,652 = 8,093H, 1,559% &4, 16.2% &

(30cH) 76,6758 (11.2%) = 71,233H(11.3%), 5442FE(7.1%) &2, 0.1%p 57t
SCERRES
NCELIEIPS
NCELIEIES

ZtA) 253% = 24.2%, 1.1%p U4
) 57,258 = 53,963, 3,295 ZA, 58% ZA
) 19417%H = 17,2709, 2,1479H ZA, 11.1% L4

(40CH) 148,452H(21.6%) = 138,913H(22.1%), 9,539H(6.4%) &2, 0.5%p S7t
- (QIFQ HE |
(U= T

TAEN

L (@29

A 14.9% = 14.3%, 0.6%p L2
126,294F = 119,034, 7,260 Z=, 57% &4
22,158 = 19,8799, 2,279 Z=, 103% Za

(50CH) 244,682H(35.6%) = 226,498 (36.1%), 18,184F(7.4%) &=L, 0.5%p 57}

- (2FQ HIF ZA) 127% = 12.4%, 03%p &4
- (LH=Ql ZA) 213,660 = 198,435H, 152258 ZA 71% LA
- Q=091 ZhA) 31,0228 = 28,063YH 2959 A 95% ZhA

(60CH) 154,313F(22.5%) = 132,513H(21.1%), 21,800F(14.1%) &L, 1.4%p HL

(=2l HIE ZA) 93% = 9.1%, 0.2%p &4
- (LH=Ql ZEA) 139,994F = 120,4179H, 19,577 ZA, 14.0% LA
(=0 ZA) 14,319H = 12,096H 2223 24 155% Z4A




- (70cH O|%) 17,852 (2.6%) = 13,813H(2.2%), 4,039 (22.6%)

A, 04%p L

(2=l HFE &) 29% = 2.5%, 0.4%p LA
S (Lf=Ql ZEA) 17,338 = 13,4659, 3,873FH ZA, 22.3%

(=0 ZA) 514%H = 3489, 166FH 24, 32.3%

ZEA

[ P

2

<
5,000
2 42&

2 4> A U 929l

2 OIHx S

7+ 318199 CiH| 209 ¥3h

-E550

-3,295

2,147

-7.260

2279  -15235

-2850 -19577

] -3,873

166 | po

r -10.0

F -15.0

r -20.0

r -25.0

- -35.0

-5,000
-10,000
-15,000
-20,000
-25,000
(= =e  g=2
20CH 0|5

T O[SHA

A
T D

Az AdZ22XSH 2| DB

gall S22 28

At
Jot

<& 2> AFE U.el=eE A FH

(&)

$12H(19.9 CHH| '20.9 3}

o 2019.9 2020.9 e SJ| el 32

= olRa(®)|  FaH(%)  |[0Ra@)] Fa&0i(%) |oass(@)|E2E%)

Hl 686,374 100.0 100.0| 628,237 100.0 100.0| -58,137 -8.5

& A =0l 589,292 85.9 85.9| 542,488 86.4 86.4| —-46,804 -7.9

e|=09l 97,082 141 14.1 85,749 13.6 13.6] —-11,333 -11.7

20CH H 44,400 6.5 100.0 45,267 7.2 100.0 867 2.0

0|5t =0l 34,748 5.1 78.3 37,174 5.9 82.1 2,426 7.0

2|=09l 9,652 1.4 21.7 8,093 1.3 17.9 -1,559 -16.2

Al 76,675 11.2 100.0 71,233 11.3 100.0 -5,442 -7.1

30CH u=ol 57,258 8.3 74.7 53,963 8.6 75.8 -3,295 -5.8

e|=09l 19,417 2.8 25.3 17,270 2.7 24.2 -2,147 -11.1

Al 148,452 21.6 100.0/ 138,913 221 100.0 -9,539 -6.4

4004 =0l 126,294 18.4 85.1] 119,034 18.9 85.7 -7,260 -5.7

e|=09l 22,158 3.2 14.9 19,879 3.2 14.3 -2,279 -10.3

Al 244,682 35.6 100.0| 226,498 36.1 100.0/ —-18,184 -7.4

5004 =0l 213,660 31.1 87.3| 198,435 31.6 87.6| —15,225 -7.1

e|=09l 31,022 4.5 12.7 28,063 4.5 12.4 -2,959 -9.5

Al 154,313 22.5 100.0| 132,513 21.1 100.0| -21,800 -14 1

60CH LH=20l 139,994 20.4 90.7| 120,417 19.2 90.9| -19,577 -14.0

e|=09l 14,319 2.1 9.3 12,096 1.9 9.1 -2,223 -15.5

70CH Hl 17,852 2.6 100.0 13,813 2.2 100.0 -4,039 -22.6

014+ =0l 17,338 2.5 97.1 13,465 2.1 97.5 -3,873 -22.3

< e|=09l 514 0.1 2.9 348 0.1 2.5 -166 -32.3
F . EAA+E 2341 S0 9 22 288 + A8

A
Az HEZ2ASHE DB



O F2 67l &32| L-2/=H mSHX} SZ(19.98 CHH| 2098 M3}

- (TMl) 449,623F = 411,0099H2), 38254FB5%) &= L=Ql &7t IAX|2 ZAE0

HIE ZAZS [IRE 2900 o 2

(=2l HIFE &) 165% = 15.9%, 0.6%p L2
- (LH=Q ZA) 375,026 = 3454933, 29,5338 LA, 7.9% LA
(A= ZA) 74237H = 65516F, 8721H Z4A 117% A
- (A3YE Hn) BE XHB0M #A (HIzII-'-ﬂ} &1-3- | Z&a #AH)
AZH RX BEQIE(57.0%)>HBEF3(15.6%)>H2S(12.1%)>E25(9.4%)
Q=2 HIE HZ2E(33.9%)>HES3(30.1%)> EE 21 (11.1%)> H2+-S(10.2%)

- (5915 252,760H(56.3%) = 234,406 (57.0%), 18,354H(7.3%) &=, 0.7%p 57}
- (=2 HIE ZA) 12.0% = 11.1%, 0.9%p &4

- (W2l ZA) 222,504 = 208,282, 14,222F ZA, 64% T4
- (=l L) 30,256 = 26,124, 4,132%' 2, 13.7% L2

- (BE53) 68,613B(15.3%) = 64,235H(15.6%), 4,378B(64%) &=, 03%p 7t

ZEA) 30.7% = 30.1%, 0.6%p LA
) 47,567F = 44,8759, 2,692Y ZtA, 57% LA
) 21,046F = 19,360%, 1,686% ZtA, 8.0% LA

- (H23) 42,598H(9.5%) = 38,757H(9.4%), 3,841H(9.0%) Z=, 0.1%p ZA
(=0l H[F ) 342% = 33.9%, 0.3%p 42

- (Lf=91 ZtA) 28,043 = 25,614H, 2,429 ZA, 87% LA

- (TRl ZEA) 14,5558 = 13,143F, 14128 A, 97% Z4A

- (HH2+3) 56,547H(12.6%) = 49,612H(12.1%), 6,935H(12.3%) Z4, 0.5%p LA
- (=0l HE &) 10.8% = 10.2%, 0.6%p &2

- (LH=Ql ZA) 50,414 = 44,5439, 5871H ZA, 11.6% 244

- (=0l ZhA) 6,133 = 5,0699H, 1,064H ZHA, 17.3% LA

- (HIAIS) 16,802E(3.7%) = 13,839E(3.4%), 2,963H(17.6%) L=, 0.3p% LL
- (2= HE &) 7.0% = 6.4%, 0.6%p &

- (= ZEA) 15633EH = 12,9609, 2,673 A, 171% LA
- (2FQI ZEA) 1,169 = 8799 290 2 24.8% LA

2) 20209 X HAH ZB FO|M =8 67§ ZBO| XX|SH= HF S 654%Y



- (EHB) 11,943F(2.7%) = 10,160%E(2.5%), 1,783 (14.9%)

z2,

0.2%p Z2

- (@9l HF 371 9.0% = 9.3%, 0.3%p 7|

- (Il ZhA) 1,078F = 9419, 137FH LA 12.7% A

- (=2l &) 108658 = 92199, 1,646F &2, 15.1% HA

<d8 6> F82 XFTE Y. d=UE LSHX &

o12h('19.9 CHH| '20.9 ¥H=})

2) 20209 ®X HA|
HEZ22X-3 =] DB

INE=I

=~

A=
o

SOM =2 67l HEO0| XX|ot=

HE2 654%%.

-14,222 -4, 132 -2,6592 -1,686 -2,4259 -1,412 -5,871 -1,0641 -2,673 -250 -1.646 -137 o0
2,000
- -5.0
&, 000
- -10.0
6,000
-8,000 F -15.0
-10,000
- -20.0
-12,000
F -25.0
-14,000
-16,000 -30.0
| y=e s=e | ysa e=o | y=a = | yIa  e=ol | 3w e=el | Y=o oZw | %
mEoE =z =22 s RS BlHS ==Z
F 1) IBMAGE 430D SOR olg) 3 +3¥Y 4 US
2) 20209 ®X TH| HEFZ FoM F=2 674 EFO0| XAX|St= HFSS 654%
A= HE2Z2XSHE DB
<E 3> F2 XFEH Y.L=UE LSHXt SZ 2(19.9 CHH| 209 H2}
Qs 2019.9 2020.9 &3 S| el 32
= Ol A 4(H) 2AHI(%) I3 4(Y) 2AHI(%) IA(H) S2E(%)
Al 449,263 100.0 100.0| 411,009 100.0 100.0| —-38,254 -8.5
A Lhi=el 375,026 83.5 83.5| 345,493 84.1 84.1| —-29,533 -7.9
/=0l 74,237 16.5 16.5| 65,516 15.9 15.9 -8,721 -11.7
Al 252,760 56.3 100.0| 234,406 57.0 100.0| -18,354 -7.3
2S082| W30l 222,504 49.5 88.0] 208,282 50.7 88.9| —-14,222 -6.4
2|=0l 30,256 6.7 12.0| 26,124 6.4 1.1 -4,132 -138.7
Al 68,613 15.3 100.0| 64,235 15.6 100.0 -4,378 -6.4
JESS| U= 47,567 10.6 69.3| 44,875 10.9 69.9 -2,692 -5.7
2|=0l 21,046 4.7 30.7| 19,360 4.7 30.1 -1,686 -8.0
Al 42,598 9.5 100.0| 38,757 9.4 100.0| -3,841 -9.0
d@23 h=el 28,043 6.2 65.8| 25,614 6.2 66.1 -2,429 -8.7
2I=0l 14,555 3.2 34.2| 13,143 3.2 33.9 -1,412 -9.7
Al 56,547 12.6 100.0| 49,612 12.1 100.0 -6,935 -12.3
22 i=el 50,414 11.2 89.2| 44,543 10.8 89.8| —5,871 -11.6
2|=0l 6,133 1.4 10.8 5,069 1.2 10.2 -1,064 -17.3
Al 16,802 3.7 100.0| 13,839 3.4 100.0| -2,963 -17.6
HIAIS =0l 15,633 3.5 93.0f 12,960 3.2 93.6 -2,673 -17.1
=0l 1,169 0.3 7.0 879 0.2 6.4 -290 -24.8
Al 11,943 2.7 100.0] 10,160 2.5 100.0| -1,783 -14.9
xEZ =el 10,865 2.4 91.0 9,219 2.2 90.7| -1,646 -15.1
2I=0l 1,078 0.2 9.0 941 0.2 9.3 -137 -12.7
F 1) O3FASE 23410 502 g 32 232 + S



O XY¥ U .el=ed oI SZ(19.98 ChH| 2098 3}

- (MH]) 686,374Y = 628,237H3), 58,137H(8.5%) L=, UZQ A7t IR,
g1 H|F Z2Ze gL Ielo| 3
- (@=el
- (=2l
- (@l=el

F

N
5

N [T
E =

Z2) 141% = 13.6%, 0.5%p Z4

580,202 = 5424889, 46804H ZtA 7.9% LA

97,082 = 85,7499, 11,333Q Z=, 11.7% &4

- (X9 H) 2E XN HAMET, 55, B5 4 AH)
XN 22 Z7](20.3%)>M2(17.1%)> F4H6.2%) > 21 (5.8%)
Q=9 HIFE M2(27.0%)>4d7((18.2%)> M & (16.5%)> 217 (10.8%)

oN O
B o

I

- (M) 122,381H(17.8%) = 107,664H(17.1%), 147178 (12.0%) Z=2, 0.7%p L2
- (=02 HlE &) 271% = 27.0%, 0.1%p &2

- (=2 Z4) 89,190 = 78,6209, 10,570 Z4, 11.9% Z4

- (Q=Ql Za) 33,1919 = 29,044%, 4,147 U2, 125% A4

- (1) 41,1058 (6.0%) = 36,541H(5.8%), 4,564H(11.1%) &=L, 0.2%p LA
- (@=Q HZF 37 105% = 10.8%, 0.3%p =7}

- (LI=Ql &) 36,769 = 32,5939, 4,176Y ZA, 11.4% AL

- (=0l ZA) 4336 = 3,948, 388 ZtA, 8.9% &

- (F71) 149,432H(21.8%) = 127,843H(20.3%), 21,589 (14.4%) U=, 1.5%p L2
- (@=Q! HF S7h 17.9% = 18.2%, 0.3%p S7}

- (LH=OI ZA) 122,695 = 104,5799, 18,1168 Z2, 14.8% &L

- (=0l T 26,7378 = 23,2649, 34738 U, 13.0% A

- (CHTt) 26,831H(3.9%) = 25,724W(4.1%), 1,107H4.1%) Z=, 0.2%p 7}
- (@=Ql HF 29H) 24% = 24%

- (Lf=Ql &) 26,1948 = 25109%H, 1,085H Z=, 41% LA

- (= L) 637 = 6158, 22FH AU 35% A

- (B58) 23,185 (3.4%) = 21,308H(3.4%), 1,877H(8.1%) &=, HIE

Mo
r&

- (2=l HE &) 25% = 2.3%, 0.2%p &a
- (Lf=Ql ZA) 22,609 = 20,821%H, 1,788 ZA, 7.9% A
- Q=0 ZA) 576H = 487, 89 LA 155% LA

3) 20209 A©X} XY E2F7I {22 103,203F0| ZatE

=B



(F4h) 44,5668 (6.5%) = 38,7568 (6.2%), 5810F(13.0%) &L, 03%p HL

A

- (@=Q HE 2¥) 1.9% = 1.9%
- (LH=9Q1 ZhA) 43,703 = 38,0019, 5702H Z4, 13.0% ZA
- Q=01 ZA) 863H = 7558, 108 ZA, 125% LA

(A 28,214 (4.1%) = 25,013H(4.0%), 3,201H(11.3%) L2, 0.1%p ZA

A

- (=0l H|E &) 3.7% = 3.3%, 04%p &=
(L= ZEA) 27,156 = 24,186Q, 2,970 ZA, 10.9% LA
- (TRl ZEA) 1,058 = 8279, 231H ZtA, 21.8% 4L

(E4h 12,7578 (1.9%) = 11,630E(1.9%), 1,127H(8.8%) &4, HF =H

- (@=Q HF 37 51% = 6.2%, 1.1%p 57t
- (LH=ZQ ZhA) 12,107H = 10,907F, 1,200 ZA, 99% ZhAa
- (1= 7 650 = 7239, 73H B} 11.2% &7}

(EF) 17,3108(2.5%) = 16,1338 (2.6%), 1,1778(6.8%) &=L, 0.1%p F7

l

- (@=Q HF 37 2.7% = 3.1%, 0.4%p 7}
- (LH=Ql ZA) 16,846 = 156259, 12218 2, 7.2% 244
- (=9 =71 464Y = 508%, 44°H =7} 95% S}

(M) 22,786 (3.3%) = 22,728H(3.6%), 58E(0.3%) &, 0.3%p 57t

- (2=l HE &) 25% = 2.2%, 0.3%p &
- (LH=Ql &7} 22,214H = 22,233EH, 198 =7}, 01% =7}
< (Q=Ol ZhA) 572H = 495%, 779 Z+A 135% A

(M) 18503H(2.7%) = 15,792H(2.5%), 2,711E(14.7%) Z=, 02%p &

&

- (=0l HE &) 2.0% = 1.7%, 03%p &=
(L= ZEA) 18,124FH = 155219, 2,603 ZA, 144% LA
- (QIFQl ZhA) 379" = 2719, 108 LA, 285% LA

(CHH) 19,553 (2.8%) = 17,051H(2.7%), 2,502 (12.8%) Zt2, 0.1%p Z

&

- (@=9l HF =) 25% = 2.5%

- (LH=01 ZA) 19,061H = 16,6209, 2,441H ZtA, 12.8% ZA
- (QFOl ZhA) 492H = 4318, 61-H ZA, 124% LA




- S

) 2,530(0.4%) = 2,038H(0.3%), 492 (19.4%) &AL, 0.1%p HL

(=0 HS ZA) 17.0% = 16.5%, 0.5%p & o
- (LH=Q Z) 2,0999Y = 1,7029, 397F Z&, 189% LA
- Q=0 ZA) 431H = 336, 95 U 220% LA

- (BY) 24,201H(3.5%) = 21,886H(3.5%), 2,315H(9.6%) L4, HF £

- (3

- (=0l HlE &) 6.5% = 59%, 0.6%p &2
(L=l ZhA) 22,634H = 20,592FH, 2,042 ZA, 9.0% A
(=0l ZA) 1,567H = 1,294H, 2738 ZA, 17.4% LA

5) 16,335H(2.4%) = 13,7318 (2.2%), 2,604H(15.9%) &HZL, 0.2%p &HL

- (=2 HE D) 63% = 4.9%, 1.4%p &4
- (LH=Q1 ZA) 153128 = 13,065%, 2,247H 4, 147% 4L
- (QI=Ql ZtA) 1,023H = 666% 3570 a4, 349% 2

- (B¥) 189718(2.8%) = 16,753F(2.7%), 2218B(11.7%) &=, 0.1%p &HL

C(QFQHIB L) 34% = 33%, 0.1%p L&

- (LHZQ ZhA) 18,327H = 16,1959, 2,1328 A 11.6% A
- (Q=Ol ZA) 644H = 558, 86F ZtA, 13.4% LA

- (MIF) 5,179E(0.8%) = 4,443F(0.7%), 736B(14.2%) &AL, 0.1%p &AL

-5.000

- (2=l HE &) 31% = 2.7%, 0.4%p &4
< (=0 ZEA) 5,018 = 4,323%, 6958 ZHA 13.9% A
(IRl ZA) 1618 = 1209, 41Y ZHA, 255% LA
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<E 4> X|9dH L o|7QE n|ZHXt 5Z s=(19.9 CHH| '20.9 HZ}

Q= 2019.6 2020.6 dd S| OiHl 52

- ol ~(g) T4HI(%) eI =(g) F4HI(%) QIA(Y) | SLE(%)

Al 686,374 100.0 100.0| 628,237 100.0 100.0) -58,137 -8.5

& W=el 589,292 85.9 85.9| 542,488 86.4 86.4| -46,804 -7.9
252l 97,082 14.1 14.1 85,749 13.6 13.6] -11,333 -11.7

A 122,381 17.8 100.0/ 107,664 17.1 100.0] -14,717 -12.0

NE =9 89,190 13.0 72.9 78,620 12.5 73.0 -10,570 -11.9
2=0l 33,191 4.8 271 29,044 4.6 27.0 -4,147 -12.5

Al 41,105 6.0 100.0 36,541 5.8 100.0 -4,564 -11.1

old =2l 36,769 5.4 89.5 32,593 5.2 89.2 -4,176 -11.4
2=el 4,336 0.6 10.5 3,948 0.6 10.8 —-388 -8.9

Al 149,432 21.8 100.0] 127,843 20.3 100.0] -21,589 -14.4

=D W=el 122,695 17.9 82.1| 104,579 16.6 81.8| -18,116 -14.8
230l 26,737 3.9 17.9 23,264 3.7 18.2 -3,473 -13.0

Al 26,831 3.9 100.0 25,724 4.1 100.0 -1,107 -4.1

CH= =2l 26,194 3.8 97.6 25,109 4.0 97.6 -1,085 -4.1
=0l 637 0.1 2.4 615 0.1 2.4 -22 -3.5

A 23,185 3.4 100.0 21,308 3.4 100.0 -1,877 -8.1

3= W=el 22,609 3.3 97.5 20,821 3.3 97.7 -1,788 -7.9
270l 576 0.1 2.5 487 0.1 2.3 -89 -15.5

Al 44,566 6.5 100.0 38,756 6.2 100.0 -5,810 -13.0

ok LH=el 43,703 6.4 98.1 38,001 6.0 98.1 -5,702 -13.0
2=el 863 0.1 1.9 755 0.1 1.9 -108 -12.5

Al 28,214 4.1 100.0 25,013 4.0 100.0 -3,201 -11.3

3 LH=el 27,156 4.0 96.3 24,186 3.8 96.7 -2,970 -10.9
272 1,058 0.2 3.7 827 0.1 3.3 -231 -21.8

Al 12,757 1.9 100.0 11,630 1.9 100.0 -1,127 -8.8

4t =2l 12,107 1.8 94.9 10,907 1.7 93.8 -1,200 -9.9
270l 650 0.1 5.1 723 0.1 6.2 73 1.2

Al 17,310 2.5 100.0 16,133 2.6 100.0 -1,177 -6.8

= =2l 16,846 2.5 97.3 15,625 2.5 96.9 -1,221 -7.2
=2l 464 0.1 2.7 508 0.1 3.1 44 9.5

A 22,786 3.3 100.0 22,728 3.6 100.0 -58 -0.3

e tH=el 22,214 3.2 97.5 22,233 3.5 97.8 19 0.1
2=2 572 0.1 2.5 495 0.1 2.2 =77 -13.5

Al 18,503 2.7 100.0 15,792 2.5 100.0 -2,711 -14.7

a5 =9l 18,124 2.6 98.0 15,521 2.5 98.3 -2,603 -14.4
=0l 379 0.1 2.0 271 0.0 1.7 -108 -28.5

Al 19,553 2.8 100.0 17,051 2.7 100.0 -2,502 -12.8

A W=el 19,061 2.8 97.5 16,620 2.6 97.5 -2,441 -12.8
=2l 492 0.1 2.5 431 0.1 2.5 -61 -12.4

Al 2,530 0.4 100.0 2,038 0.3 100.0 -492 -19.4

N&E =9 2,099 0.3 83.0 1,702 0.3 83.5 -397 -18.9
2=el 431 0.1 17.0 336 0.1 16.5 -95 -22.0

Al 24,201 3.5 100.0 21,886 3.5 100.0 -2,315 -9.6

s W=el 22,634 3.3 93.5 20,592 3.3 941 -2,042 -9.0
2=el 1,567 0.2 6.5 1,294 0.2 5.9 -273 -17.4

A 16,335 2.4 100.0 13,731 2.2 100.0 -2,604 -15.9

5 W=el 15,312 2.2 93.7 13,065 2.1 95.1 2,247 -14.7
2=el 1,023 0.1 6.3 666 0.1 4.9 —-357 -34.9

Al 18,971 2.8 100.0 16,753 2.7 100.0 -2,218 -11.7

& =@l 18,327 2.7 96.6 16,195 2.6 96.7 -2,132 -11.6
2=0l 644 0.1 3.4 558 0.1 3.3 -86 -13.4

Al 5,179 0.8 100.0 4,443 0.7 100.0 —-736 -14.2

X W=el 5,018 0.7 96.9 4,323 0.7 97.3 -695 -13.9
27¢el 161 0.0 3.1 120 0.0 2.7 -41 -25.5

A 92,535 13.5 100.0] 103,203 16.4 100.0 10,668 11.5

028 | W=¢ 69,234 10.1 74.8 81,796 13.0 79.3 12,562 18.1
230l 23,301 3.4 25.2 21,407 3.4 20.7 -1,894 -8.1
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